Quiz: What Is a Monomial?
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Question 1a of 10 (2474797)

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:
Correct Answer:
Question:

1
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2
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monomial

A(n)

and a variable.
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is a number, a variable, or a product of a number
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Correct Feedback
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The correct answer is: monomial.

Question 1b of 10 (2474798)

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:
Correct Answer:

1

Text Fill In Blank
2

false

monomial

Question: A(n)
and a variable.

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: monomial.

Question 1c of 10 (2474799)

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 2

Is Case Sensitive: false

Correct Answer: monomial

Question: A(n)
and a variable.

Attempt| Incorrect Feedback
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Correct Feedback
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Global Incorrect Feedback

The correct answer is: monomial.

Question 2a of 10 (2474815)

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is a monomial?
Choice| Feedback
A. A +=h
.l"l
2
C x5
D. |-
I

Global Incorrect Feedback

1
The correct answer is:

=

Question 2b of 10 (2474316)

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is a monomial?
Choice | Feedback

A. |n+2n

B. |3
I

D. TR |

Global Incorrect Feedback

The correct answer is:

Question 2c of 10 (2474817)

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is a monomial?
Choice| Feedback

*A.

B.

C.

D.
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X
The correct answer is: _

Question 3a of 10 (2474820)

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is not a monomial?
Choice | Feedback

A. |-

B SIS

c C

Global Incorrect Feedback

The correct answer is: —.

Question 3b of 10 (2474821)

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following is not a monomial?
Choice| Feedback

A | e
-

C. |

D.

Global Incorrect Feedback

The correct answer is:

Question 3c of 10 (2474822)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which of the following is not a monomial?
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B. | -5+

- 2 ‘,.‘ f

Global Incorrect Feedback

The correct answer is:

- 5

Question 4a of 10 (2474827)

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 6

Question: Enter the degree of the following monomial.
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R F—

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 6.

Question 4b of 10 (2474828)

Maximum Attempts: 1

Question Type: Numeric Fill In Blank

Maximum Score: 2

Correct Answer: 4

Question: Enter the degree of the following monomial.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 4.
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Question 4c¢ of 10 (2474829)
Maximum Attempts: 1
Question Type: Numeric Fill In Blank
Maximum Score: 2
Correct Answer: 3
Question: Enter the degree of the following monomial.

d, e

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 3.

Question 5a of 10 (2474850)

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which of the following are like terms? Check all that apply.

Correct Answers:

Choice

A |22 sl 4t

B. .1_17-" anr .1.!'4'

Ser 4

E. |frdinlanru”

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answers are: and

Question 5b of 10 (2474851)

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which of the following are like terms? Check all that apply.

Correct Answers:
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Fuaf,and sote? and et

The correct answers are: kx* % are L3

I

Question 5c of 10 (2474852)

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which of the following are like terms? Check all that apply.

Correct Answers:

Choice

A |-Gl -4f

R I B

. 4
Lvognd A4

z3ba1d -dsb

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answers are:
, and

Question 6a of 10 (3474857)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: What is the sum of the following monomials?
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Choice| Feedback

B. |-
c. |15
D. |1=.*

Global Incorrect Feedback

~

The correct answer is: [ x*.

Question 6b of 10 (3474858)

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: What is the sum of the following monomials?
R Rt
Choice | Feedback
A |z
. 125
c. [1:#4
D. |1t

Global Incorrect Feedback

The correct answer is i1 .

Question 6c¢ of 10 (3474859)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: What is the sum of the following monomials?

Choice | Feedback

*D.

Global Incorrect Feedback

The correct answer is:
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Question 7a of
Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice | Feedback
A. |1z yc'
Tox" _I,':
c. RTINS
D. |fz: 0

Question 7b of

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice | Feedback

T

B. i
C. |az
D ’8{_‘.5',2

Question 7c of
Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice |Feedback

*B.

10 (3474863)

1

Multiple Choice

2

What is the difference of the following monomials?

— - k] = 3
LI Py

Global Incorrect Feedback

The correct answer is: " 2= .

10 (3474864)

1

Multiple Choice

2

What is the difference of the following monomials?

Global Incorrect Feedback

The correct answer is: "z,

10 (3474865)

1

Multiple Choice

2

What is the difference of the following monomials?
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The correct answer is: -Z;%.

Question 8a of 10 (3474866)

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice | Feedback

I_g_] ]
;
ied

1

Multiple Choice

2

What is the product of the following monomials?

Atz e

-
o Tl

Global Incorrect Feedback

The correct answer is: -i=- %" .

Question 8b of 10 (3474867)

Maximum Attempts:

Question Type:
Maximum Score:
Question:

Choice | Feedback

1

Multiple Choice

2

What is the product of the following monomials?

Syl g L
(5] COL R

Global Incorrect Feedback

The correct answer is:

Question 8c of 10 (3474868)

Maximum Attempts:

Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

What is the product of the following monomials?
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- 050
B. b :5 o
c. |22
._l‘_'l
D. ‘_I.lj

Global Incorrect Feedback

The correct answer is:  1=2"}

Question 9a of 10 (3474869)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: What is the quotient of the following monomials?

Tzt e PR

Choice |Feedback

ST
B. | =
7
C REER
D [= PR oA
v

Global Incorrect Feedback

The correct answer is: 4z
Question 9b of 10 (3474870)
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: What is the quotient of the following monomials?

Choice | Feedback

*D.
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The correct answer is: —

a L

Question 9c of 10 (3474871)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: What is the quotient of the following monomials?

N
- =
St s el

Choice| Feedback

a.
e

N
o

Global Incorrect Feedback

The correct answer is: =

Question 10a of 10 (3474872)

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which of the following would result in s ?
Choice Feedback
P
H!-L-;
B.
C.
D.

Global Incorrect Feedback

The correct answer is:

Question 10b of 10 (3474873)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which of the following would result in
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Choice Feedback

ST et a0y

C. |15 n- r.in
b. | - 153"
Fa0

Global Incorrect Feedback

The correct answer is: --l.it + moii .

Question 10c of 10 (3474874)

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which of the following would result in 4¢e ?
Choice Feedback

A. | *cia+2

- b = e

C. | vy

K

p. | """

Global Incorrect Feedback

The correct answer is: oo Z2df .
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